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Introduction

The test papers will be marked by external markers. The markers will apply
the mark schemes in this booklet, which is provided here to inform teachers.

This booklet contains the mark schemes for Paper 1, Paper 2 and the mental
mathematics test. Questions have been named so that each one has a
unique identifier.

The structure of the mark schemes

The marking information for questions in the written tests is set out in the
form of tables, which start on page 11 (Paper 1) and page 21 (Paper 2) of this
booklet. The two columns on the left-hand side of each table provide a quick
reference to the question number, question part, and the total number of
marks available for that question part.

The Correct response column usually includes two types of information:

m a statement of the requirements for the award of each mark, with an
indication of whether credit can be given for correct working, and whether
the marks are independent or cumulative

m examples of some different types of correct response, including the most
common and the minimum acceptable.

The Additional guidance column indicates alternative acceptable responses,
and provides details of specific types of response that are unacceptable. Other
guidance, such as when ‘follow through’ is allowed, is provided as necessary.

Questions with a Using and applying mathematics element are identified in
the mark scheme by an encircled U with a number that indicates the
significance of using and applying mathematics in answering the question.
The U number can be any whole number from 1 to the number of marks in
the question.
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General guidance

Using the mark schemes

Answers that are numerically equivalent or algebraically equivalent are
acceptable unless the mark schemes state otherwise.

In order to ensure consistency of marking, the most frequent procedural
queries are listed on the following two pages with the prescribed correct action.
This is followed by further guidance, relating to marking of questions that
involve money, time, algebra, coordinates or negative numbers. Unless
otherwise specified in the mark schemes, markers should apply the following
guidelines in all cases.
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What if ...

The pupil’s response
does not match
closely any of the
examples given.

Markers should use their judgement in deciding whether the response
corresponds with the statement of requirements given in the Correct response
column. Refer also to the Additional guidance column.

The pupil has
responded in a
non-standard way.

Calculations, formulae and written responses do not have to be set out in any
particular format. Pupils may provide evidence in any form as long as its
meaning can be understood. Diagrams, symbols or words are acceptable for
explanations or for indicating a response. Any correct method of setting out
working, however idiosyncratic, is acceptable. Provided there is no ambiguity,
condone the continental practice of using a comma for a decimal point.

The pupil has made a

conceptual error.

In some questions, a method mark is available provided the pupil has made a
computational, rather than conceptual, error. A computational error is a slip
such as writing 4 x 6 = 18 in an otherwise correct long multiplication.

A conceptual error is a more serious misunderstanding of the relevant
mathematics; when such an error is seen, no method marks may be awarded.
Examples of conceptual errors are: misunderstanding of place value, such as
multiplying by 2 rather than 20 when calculating 35 x 27; subtracting the
smaller digit from the larger in calculations such as 45 — 26 to give the
answer 21; incorrect signs when working with negative numbers.

The pupil’s accuracy
is marginal
according to the
overlay provided.

Overlays can never be 100% accurate. However, provided the answer is
within, or touches, the boundaries given, the mark(s) should be awarded.

The pupil’s answer
correctly follows
through from earlier
incorrect work.

Follow through marks may be awarded only when specifically stated in the
mark schemes, but should not be allowed if the difficulty level of the question
has been lowered. Either the correct response or an acceptable follow
through response should be marked as correct.

There appears to be a
misreading affecting
the working.

This is when the pupil misreads the information given in the question and

uses different information. If the original intention or difficulty level of the
question is not reduced, deduct one mark only. If the original intention or

difficulty level is reduced, do not award any marks for the question part.

The correct answer is
in the wrong place.

Where a pupil has shown understanding of the question, the mark(s) should
be given. In particular, where a word or number response is expected, a pupil
may meet the requirement by annotating a graph or labelling a diagram
elsewhere in the question.
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The final answer is
wrong but the correct
answer is shown in
the working.

Where appropriate, detailed guidance will be given
in the mark schemes, and must be adhered to.

If no guidance is given, markers will need to examine
each case to decide whether:

the incorrect answer is due to a transcription error

If so, award the mark.

in questions not testing accuracy, the correct answer
has been given but then rounded or truncated

If so, award the mark.

the pupil has continued to give redundant extra
working which does not contradict work already done

If so, award the mark.

the pupil has continued, in the same part of the
question, to give redundant extra working which
does contradict work already done.

If so, do not award
the mark. Where a
question part carries
more than one mark,
only the final mark
should be withheld.

The pupil’s answer is
correct but the wrong
working is seen.

A correct response should always be marked as correct, unless the mark

schemes state otherwise.

The correct response
has been crossed
(or rubbed) out

and not replaced.

Mark, according to the mark schemes, any legible crossed (or rubbed) out

work that has not been replaced.

More than one
answer is given.

If all answers given are correct or a range of answers is given, all of which are
correct, the mark should be awarded unless prohibited by the mark schemes.
If both correct and incorrect responses are given, no mark should be awarded.

The answer is correct
but, in a later part of
the question, the pupil
has contradicted this
response.

A mark given for one part should not be disallowed for working or answers
given in a different part, unless the mark schemes specifically state otherwise.
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Marking specific types of question

Responses involving money

For example: £3.20 £7

Accept v/

Do not accept x

v Any unambiguous indication of the
correct amount
eg £3.20(p), £3 20, £3,20,
3 pounds 20, £3-20,
£3 20 pence, £3:20,
£7.00

v The £ sign is usually already printed
in the answer space. Where the pupil
writes an answer other than in the
answer space, or crosses out the £ sign,
accept an answer with correct units
in pounds and/or pence
eg 320p
700p

x Incorrect or ambiguous use of pounds
or pence
eg £320, £320p or £700p,
or 3.20 or 3.20p not in
the answer space

x Incorrect placement of decimal
points, spaces, etc or incorrect use or
omission of 0

eg £3.2, £3 200, £32 0,
£3-2-0,
£7.0

Responses involving time

A time interval For example: 2 hours 30 mins
Accept v/ Take care ! Do not accept x
v Any unambiguous indication % Incorrect or ambiguous time interval
eg 2.5 (hours), 2h 30 eg 2.3(h), 2.30, 2-30, 2h 3,
2.30min
v/ Digital electronic time
ie  2:30 ! The time unit, hours or minutes, is
usually printed in the answer space.
Where the pupil writes an answer
other than in the answer space, or
crosses out the given unit, accept an
answer with correct units in hours or
minutes, unless the question has asked
for a specific unit to be used
A specific time For example: 8.40am 17:20

Accept v/

Do not accept x

v Any unambiguous, correct indication
eg 08.40, 8.40, 8:40, 0840, 8 40,
8-40, twenty to nine,

8,40
v Unambiguous change to 12 or 24 hour
clock
eg 17:20 as 5:20pm, 17:20pm

x Incorrect time
eg 8.4am, 8.40pm

x Incorrect placement of separators,
spaces, etc or incorrect use or
omission of 0

eg 840, 8:4:0, 084, 84
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Responses involving the use of algebra

n

For example: 2+n n+2 2n 5 n?

Accept v

Take care! Do not accept x

v Unambiguous use of a different case
or variable
eg N used forn
x used for n

v Words used to precede or follow
equations or expressions
eg t=n+2tilesor
tiles=t=n+2
fort=n+2

v Unambiguous letters used to indicate
expressions
eg t=n+2forn+2

! Unconventional notation
eg mnx2or2xnorn2
orn + n for 2n

n x n for n?

o for M or 1
nTZforzorzn

2+1nfor2 +n
2 + 0n for 2

Within a question that demands
simplification, do not accept as part
of a final answer involving algebra
Accept within a method when
awarding partial credit, or within
an explanation or general working

x Embedded values given when solving
equations
eg insolving 3x + 2 = 32,
3x10+2=32forx=10

To avoid penalising the two types of
error below more than once within
each question, do not award the mark
for the first occurrence of each type
within each question. Where a question
part carries more than one mark, only
the final mark should be withheld

! Words or units used within equations
or expressions
eg ntiles+2
nam+ 2

Do not accept on their own
Ignore if accompanying an acceptable
response

x Ambiguous letters used to indicate
expressions
eg n=n+2forn+2
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Responses involving coordinates
For example: (5,7)

Accept v

Do not accept x

v Unconventional notation
eg (05,07)
( five, seven)
Xy
(5.7)
(x=5y=7)

% Incorrect or ambiguous notation
eg (7,5)
y x
(7,5)
(5x,7y)
(5%7")
(x=5y-7)

Responses involving negative numbers

For example: -2

Accept v

Do not accept x

To avoid penalising the error below more
than once within each question, do not
award the mark for the first occurrence
of the error within each question. Where
a question part carries more than one
mark, only the final mark should be
withheld

% Incorrect notation
eg 2-
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Recording marks awarded on the test paper

All questions, even those not attempted by the pupil, will be marked with a 1or

a 0 entered in each marking space. Where 2m can be split into 1m gained and

1m lost, with no explicit order, then this will be recorded by the marker as 1
0

The total marks awarded for a double page will be written in the box at the
bottom of the right-hand page, and the total number of marks obtained on
the paper will be recorded on the front of the test paper.

A total of 100 marks is available (40 from Paper 1, 40 from Paper 2 and 20
from the mental mathematics test).

Awarding levels

The sum of the marks gained on Paper 1, Paper 2 and the mental mathematics
paper determines the level awarded. Level threshold tables, which show the
mark ranges for the award of different levels, will be available on the QCA
website www.qca.org.uk from 20 June 2005. QCA will also send a copy

to each school by 1 July 2005.

Schools will be notified of pupils’ results by means of a marksheet, which will
be returned to schools by the external marking agency with the pupils’ marked
scripts. The marksheet will include pupils’ scores on the test papers and the
levels awarded.
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Mark scheme for Paper 1

Question Making models
1 Correct response Additional guidance
1m 12
Question Working out
2 Correct response Additional guidance
1m 27
1m 26

11
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Question Same values?
3 Correct response Additional guidance
a 1m Indicates Yes and gives a correct explanation
The most common correct explanations:
Complete the calculations v Minimally acceptable explanation
eg €g
m 17+15=32and 2 x 16 =32 + 32 seen, with no evidence of incorrect
n They are both 32 working
m 10+10=20,7+5=12 and ¢+ 20 + 12 and 20 + 12
2x10=20,2x6=12
% Incomplete explanation
€g
¢+ 17+15=2x16
+ Same answer
+ 1 did the calculations
Use knowledge of near doubles v Minimally acceptable explanation
€g €g
m Subtract 1 from 17 and add it to the 15 and *+16+1+16-1=2x16
you have 16 + 16 which is the same as 16 x 2 *17+15=16 + 16
» Double 15 = 30 then add 2 and it’s the same
as double 16 % Incomplete explanation
€g
¢+ 17+15=2x16
b 1m 17
c 1m 3 ! Answer of 3 x 1

Condone

12
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Question Coi n S
4 Correct response Additional guidance
2m | 57 p
or
1m Shows the digits 57
or
Shows the digits 105 and 48
or
Shows the digits 1(00) and 43 with no evidence of
an incorrect method or incorrect units
or
Shows a complete correct method with not more ! For 1m, units incorrect or inconsistent
than one error Condone provided no ambiguity between
eg pounds and pence is caused
s 100 —48+5 eg, for 1m accept
n £1.05 — 38p (error) = 67 ¢+ 1 —48 =42 (error) [attempt is 100 — 48]
42 +5=47
eg, for 1m do not accept
¢ 1 — 48 =47 (error) [attempt is 48 — 1]
47 +5 =152
Question Bea n bag
5 Correct response Additional guidance
a 1m Indicates only the correct beanbag, ie ! Other beanbags indicated
J— Ignore marks made on any beanbags inside
% the 100cm circle as these may have been
X e x used for part (b)
T ’ XX Do not accept any other beanbags indicated
i o 1100cm;
X ! ! :
© 7/ 200cm
X e
N X :
">*<~ __________
b 1m
c 1m

13
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one line of symmetry, ie

Question Decimals
6 Correct response Additional guidance
a 1m Gives any pair of decimal numbers that add to 1 % Whole numbers or fractions
other than those given eg
eg + 1.0 0.0
s 0.1 0.9 L1 3
= 0.5 0.5 4 4
s 0.75 0.25
s 1.2 -0.2 x Given pair in reverse order
€g
+ 0.7 0.3
b 1m 0.15 or equivalent decimal % Equivalent fractions
Question One line
7 Correct response Additional guidance
1m Indicates one more square so the first shape has ! Square not shaded
one line of symmetry, ie indicates one of the four Accept provided the indication is
black squares shown below unambiguous
o ! Line(s) of symmetry drawn
. Ignore, even if incorrect
1m Indicates one more square so the second shape has

14
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Question

Cost of pens

8

Correct response

Additional guidance

2m

or
1m

£ 1.30, with no evidence of incorrect working

Shows the value 1.3 or 130, with no evidence of
incorrect working

or
Shows the digits 39(0)
or

Shows a complete correct method with not more
than one computational error, provided their value
is rounded or truncated to the nearest penny
eg
s 5—1.10=4.90
490 +3=1.63

% Incorrect working
eg
*+5-1.10=4.90
490 +3=1.30

x Conceptual error
€g
+5-1.10=4.10
410 +3 =137

Question

Completing calculations

9

Correct response

Additional guidance

1m

1m

Gives any three numbers that combine as shown
to give 60

cg
s 100 + 20 — 60
m 60+1—-1
s 60 +60—60

Gives any three numbers that combine as shown
to give 0.6
eg

s 0.5+0.5-04

m 2+1-24

m 06+1-1

v Fractions, decimals or negatives

v Zero(s) used

15
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Question Using rules
10 Correct response Additional guidance
a 1m Gives both correct numbers in the correct
positions, ie
3 and 35
b 2m Gives both correct numbers in the correct
positions, ie
5 and 95
or
1m Gives one correct number in the correct position
Question How many?

11 Correct response Additional guidance

a 1m 10 v Throughout the question, responses
embedded
eg, for part (a)

*+ 10 x4

b 1m 5 ! Follow through
For part (b), accept follow through as
their (a) + 2

c 1m 80 ! Follow through
For part (c), accept follow through as either
their (a) x 8 or their (b) x 16

16
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or
1m

°
° °
° ° °
° ° ° °
° ° ° °
I I I I I I
9 10 11 12 13 14
or
°
°
° ®
° ° °
° ° ®
° ° ° °
I I I I I I
9 10 1 12 13 14

Completes a dot plot that satisfies at least four
of the following six conditions, even if there are
other errors

There is a total of 14 dots

Age 11 has 3 dots

Only age 9 and age 14 have no dots

Age 13 has the greatest number of dots

Age 12 has more dots than age 11

Age 10 has at least one dot

A

or

Shows or implies either set of correct values for the

ages, even if the dot plot is incorrect or omitted

eg

0), 2, 3,4,5,(0)
1, 3,4,6,(0)

b b

10

| |
9 10 11 12 13 14

Question Youth club
12 Correct response Additional guidance
a 1m 10
b 1m 6
c 2m Completes the dot plot correctly, ie ! Symbols not shaded, accurate or grouped in

a straight line
For 2m or 1m, condone provided the number
of symbols is unambiguous for each age

17
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Question Keys
13 Correct response Additional guidance
a 1m 5.3 v Equivalent fractions or decimals
b 1m 8.1 ! Follow through
Accept follow through as their (a) + 2.8,
provided this requires ‘bridging the units’
eg, from their (a) as 6.4 accept
+9.2
Question Angles in a square
14 Correct response Additional guidance
a 1m 90 ! Throughout the question, incorrect units
inserted
Ignore
b 1m 45 ! Follow through

Accept follow through as their (a) + 2
provided 0 < their (a) < 90

% Incomplete processing
g
+ —0f90
2

18
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Question Multiplication
15 Correct response Additional guidance
1m 150
2m 400 ! For 2m or 1m, follow through
For 2m, accept a correct evaluation of
(250 + their answer to 6 x 25)
For 1m, accept a correct method
eg, for 1m accept
* 10 x 25 + their answer to 6 x 25
¢ 250 + their answer to 6 x 25
or
1m Shows a complete correct method with not more x For 1m, conceptual error
than one computational error eg
eg + 16
s 6x25=150 25
10 x 25 =250 32
16 x 25 = 150 + 250 80
s 16 x 20 =320 112
16 x 5 =280, 320 + 80
= 16 x 100 = 1600 ! Method is repeated addition
1600 + 2 = 800 For 1m, at least some multiplication must be
800 + 2 shown or implied
. | 10 6 eg, for 1m do not accept
201200 120 * 16 +16 + ...... + 16 [shown 25 times]
S| 50 25 (error)
200 + 120 + 50 + 25 = 395
= 16
25
320
80
300 (error)
Question A reas
16 Correct response Additional guidance
a 1m 4
b 1m 2 v Follow through as their (a) + 2

19
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add to 30

Question Pairs of values
17 Correct response Additional guidance
a 1m Gives two correct pairs of values for x and y that v Fractions, decimals or negatives

eg ! Same values repeated, but order reversed
s x=10, y=20 As this still gives different values for x and y,
x=15, y=15 condone
m X = 1, y= 29 €g
x=30, y= 0 *+x=10, y=20
@ x=20, y=10
b 1m 10 % Incomplete processing

€g
* 40 - 30

X Answer of —10

20
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Mark scheme for Paper 2

Question Number lines
1 Correct response Additional guidance
a 1m Indicates the value 26, ie V' Inaccurate indication
Accept provided the pupil’s intention is clear
l v Unambiguous indication
€g
| .
20 30 |
20 26 30
b 1m 105
Question Shopping
2 Correct response Additional guidance
1m £ 5.36

21
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Question

Times

Correct response

Additional guidance

1m

1m

Completes the missing time correctly
cg

s 06:45

s 6:45 am

Completes the missing time correctly
eg

s 19:15

s 7:15 pm

! For the first mark, indication of am

unconventional or omitted
Condone, but do not accept incorrect times
eg, accept
¢ 6:45 morning
* 6:45
eg, do not accept
¢ 6:45 pm
* 18:45

For the second mark, indication of pm
unconventional or omitted
Do not accept any indications other than the
24 hour clock and/or pm
eg, accept

¢ 19:15pm
eg, do not accept

¢ 7:15

¢ 7:15 in the evening

1m

Completes the missing time correctly
€g

= 9pm

= Nine o’clock at night

! Indication of pm unconventional or omitted

Condone any unconventional indication
eg, accept

* 9 o’clock afternoon
Accept indication of pm omitted only if this
error has already been penalised for the
second mark in part (a)

Time not interpreted
eg
¢ 21lpm
* Twenty-one hundred hours

Question

Titles

Correct response

Additional guidance

1m

10

1m

14

1m

22
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Question

Units

Correct response

Additional guidance

1m

Indicates No and gives a correct explanation
eg

m 100cm is 1 metre

s 1000mm is 1m, not 1000cm

s 1000cm = 10 metres not 1 metre

v Minimally acceptable explanation
eg
+ 100
+ 1000mm
¢+ 10m

! Explanation uses known measurement(s)
Accept provided there is a comparison
eg, accept
+ I would be less than 1 metre tall but I am
1.27 metres tall
* The door is 2m high, not 0.2m
eg, do not accept
* I would be less than a metre tall
¢ The door is not 0.2m high

! Response contains an incorrect statement
Ignore alongside a correct response
eg, accept
¢ 100cm = 1m, so 1000cm = 1km
eg, do not accept
¢ 1000cm = 1km

% Incomplete explanation
eg
+ 1000
* 10

1m

10

Question

Rounding

6

Correct response

Additional guidance

1m

Indicates that the amount was rounded to the
nearest hundred pounds
eg

s Hundred

s 100

! Units repeated
€g
* £100

Condone

% Ambiguous spelling
€g
+ Hundredth
¢ Hundreth

23
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The most common correct explanations:

Show or imply the correct evaluation of both
calculations

eg
x Lof20=10and L of 40 = 10
2 4
m They both equal 10
« [10]10] [10]10[10] 10]

L of20 =1 of 40
2 4

Use ratio
€g
s 20 doubled is 40 and half of% is %

Question Shading fractions
7 Correct response Additional guidance
a 1m Indicates only the correct shape, ie
b 1m Indicates No and gives a correct explanation

v Minimally acceptable explanation

€g

+ 10, 10 seen
* Equal
+ Same

*

x Incomplete explanation

€g

* 10 seen

oL of20is 10
2

o L of40is 10
4

v Minimally acceptable explanation

€g

¢20x2=40,L:2:-1
2 4

* 20 is half of 40 and 2 is half of 4
¢ You have doubled the number and
halved the fraction

% Incomplete explanation

€g

o1 is double 1
2 4

+ It’s just doubled

24
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Question Number line again
8 Correct response Additional guidance
1m -2
1m 12
Question Place value
9 Correct response Additional guidance
a 1m Indicates the correct number, ie
47 407
40007 400007
b 1m 3000000 ! Unconventional grouping of digits
Accept any groupings provided the digits
are correct
% Value given in words
Question Turning direction
10 Correct response Additional guidance
a 1m West v Unambiguous indication
eg, for part (a)
W
b 1m South
c 1m 45 v —45

! Angle greater than 360
Accept any multiple of 360 + 45
eg
* 405

25
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Question Moving on a grid
1 Correct response Additional guidance
a 1m (5, 9)
b 1m Gives a correct pair of coordinates for a point on | v/ Response assumes the line continues as a
the line shown [y = x + 2] straight line
eg €g
= (0,2) + (8,10
n (2,4) *(=2,0)
s (3.5,5.5) ¢ (x,x+2)
Question Multiplying chain
12 Correct response Additional guidance
1m 1008
1m 24

26
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Question

Primary schools

13

Correct response

Additional guidance

2m

or
1m

Completes the pie chart correctly
€g

Ash

Indicates all four sectors correctly but fails to label
or labels incorrectly

or

Indicates and labels at least two of the sectors
correctly

or

Indicates the size of all four sectors and labels
them correctly, but the sectors are not continuous
€g

v Unambiguous labelling

Lines not ruled or accurate

Accept provided the pupil’s intention is clear

% For sectors representing Grange and Park,
line indicating 5% incorrect or omitted

€g

27
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The most common correct explanations:

Show or imply the correct sum

€g
1 1 _ 2 2
R +-==4+Z2
4 4 8 8
_4
8
" 1+1:1,but%:1
474 2 8 4
s 0.

25 +0.25=0.5and 0.5 :%

Give a correct and comparable calculation that

gives%
8

€g

" l+0=%
4 8

a Lo2Zgo you can’t add another +
473 4
1 1 2

-+ —=—
8§ 8 8

Address the misconception
eg
= Sam has just added the top numbers together
and the bottom numbers together and you
can’t add fractions like that
= You don’t need to change the bottom number,
just add the top ones together

Question Thinking fractions
14 Correct response Additional guidance
a 1m Indicates No and gives a correct explanation

v Minimally acceptable explanation
€g

* * *

TN B oo

*

o)
o
—_-

v Minimally acceptable explanation
€g

*

=2
8

ENG

v Minimally acceptable explanation
eg

* He added the top and bottom numbers
together

* You only add the top numbers
[denominator unchanged implied]

* You don’t add the bottom numbers
[numerators added implied]

% Incomplete explanation
eg
* You add the numerators
* You keep the denominator the same

28
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Cube Prism Square:bfised

pyramid
Triangular-based Cuboid
pyramid

Question Thinking fractions (cont)
14 Correct response Additional guidance
b 1m Indicates 5 ! Answer repeats fifths
Condone
eg, accept
o3
N
L1111 1
e
s 5§ 5 S5 5
! The stated % not included
Accept provided it is clear that it is not
included
eg, accept
* 4 more
¢ An extra 4
5
eg, do not accept
.4
Question Net
15 Correct response Additional guidance
1m Indicates the correct name, ie

29
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Question

Three odds

16

Correct response

Additional guidance

1m

Indicates No and gives a correct explanation

The most common correct explanations:

Give a counter example

€g
s 1+3+5=09,whichis odd not even

Make a general statement
eg
= An odd + another odd = an even
Then even + the third odd = odd
So the answer will always be odd
s Odd numbers are just even numbers plus 1,
and even + even + even = even
and even + 3 = odd

v Minimally acceptable explanation
eg
¢+ 1+3+5=9
*1+3+5=o0dd

! Odd numbers taken to be the same
Accept, even if the odd number repeated is 3

eg, accept
*3+3+3=9
*3x3=9

! Calculations or statements given that do not
relate to the given statement or are incorrect
Ignore alongside a correct counter example

! Incomplete explanation

€g
*1+3+5

v Minimally acceptable explanation
€g
+ Odd + odd = even, even + odd = odd

+ Even + even + even + 3 = odd

! Odd numbers taken to be the same
Condone
eg, accept
* 3 x odd is odd x odd which always
gives odd

% Incomplete or incorrect explanation
eg
* Adding three odd numbers does not
make an even number
+ Odd x odd = odd
* When you add all odd numbers it will
always come to an odd number

30




satspapers.org

2005 Year 7 progress mathematics test mark scheme: Paper 2

rectangle, even if there is further incorrect working

€g
s 12cm by 8cm

8
12
m 4+4+8+4+8+4+8
m 20 x2
m 12 x 8 (=96)

Question Calculators
17 Correct response Additional guidance
a 1m 28
b 1m 24 ! Parts (a) and (b) transposed but otherwise
correct
Mark as 0, 1
Question 1 58
18 Correct response Additional guidance
1m 632
Question Block of three
19 Correct response Additional guidance
2m 40
or
1m Shows or implies correct dimensions for the large v For 1m, minimally acceptable implication

€g

*

¢ Four 4s and three 8s seen, with the
intention to add also shown
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The most common correct explanations:

State or imply that there are the same number of
white counters in each, but different numbers of
black counters or different totals
eg
m There are the same number of white in each
box, but in box B there are more black, so you
are less likely to get white from box B
s Both boxes have three white but B has one
extra black so there is more chance of picking
a black from B
m There’s the same number of whites in both,
but in A it’s out of a smaller total

Show the probabilities of getting a white counter
or a black counter

€g
m The probability of getting a white counter is %
for box A but % for box B

» For black it’s 25% for A and 40% for B

Question Boxes Of counters
20 Correct response Additional guidance
a 1m Indicates box A and gives a correct explanation

v Minimally acceptable explanation
eg
* Same white, fewer black
* 3 white, but only one black
+ 3 white, but more black in B
¢ Same number of white but fewer
counters
* 3 is out of fewer counters

% Response details the number of white and
black counters with no comparison
shown or implied
eg

¢ A has 3 white and 1 black
B has 3 white and 2 black

x Incomplete explanation
eg
¢ There is the same number of white
counters in each box

* It’s only got one black counter

¢ Fewer black counters in A

+ There are more black in B

+ It is out of more counters in B

! Numerical probability unconventionally or
incorrectly expressed
As this is a level 4 mark, condone even if the
comparison is not explicit, provided the
correct box is ticked
eg, accept
*Ais3in4,Bis3in§
*3Wtol1B,3Wto2B
* For black it’s 1 out of 4 and 2 out of §

x Incomplete explanation
eg
* There’s a greater probability of choosing
a white counter from box A
* B is the best box for getting a black
counter
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Question Boxes of counters (cont)
20 Correct response Additional guidance
b 1m Indicates equal numbers of black and white v Unambiguous indication
counters c€g

* Filled circle for black, unfilled circle
for white

! Number of black and white counters is zero
Accept only if at least one counter clearly
labelled with another colour is given
Do not accept no counters given

! Counters clearly labelled with other colours
alongside black and white counters
Ignore

Question FlatS

21 Correct response Additional guidance

a 1m Gives the values 37, 38, 39, 40 in any order

33



satspapers.org

wd

(wd) swiy

(2.)
dwa| oL

S
00v S

v
09 %09 14

€
€

z
Ll [4
€L 6l L

,193Ys JaMsue InoA 1d9A0 uiny Moy,

SpU02as G :dwi]

¢ainyesadwal 3saybiy syl sem awil 1eym 1y
‘uoouJayye auo bupnp ainyesadwal ayy smoys ydeub aul| syl

'S9119WIIUID Ul 399Ys JaMsUe JNOA uo aul| 3y} Jo Yyibua| ayy arewiisy

{01 bunnuiod mouie ay3 si anjen 3eypn
"193ys Jomsue InoA uo 3|eds ay3 1e 3007

¢4noj-Ayuamy jo Jarienb e si1eypp

{uJoq Iy sem Aep yeym up
"Yyluow sy} 4O puodas-A1usami 8yl UO UIOg Sem 1|y
‘|udy JO Yyruow ay3 1o} Jepud|ed sy} e 3007

9

,"UMop 11 3)1im pue
JaMsue ydea 1no YIOM 0} SPU0ISS O} dAeY [[im noA suonsanb jo dnoub 3xau ay} 1o,

0 96
B
uonsanb asnoeiy
Bool 60
| | | | |
T T T 1
bl
174 L
9
s)iew
|elol
v¢ LL OL € |ung
0€ € 91 6 ¢ 1eg Jooyos
6¢ ¢¢ &L 8 | 14
8¢ ¢ vl L nyL aweu jseq
LZ 0C €L 9 PaM
9¢ 6L ¢L S anp sweu 3si14
G 8L Ll ¥ UoN i
jdy 9 1593 sanjewWaYyIeW [RIUSN

2005 Year 7 progress mathematics test mark scheme: mental mathematics

SPU02as (L :Bwil]

G00Z SonewsyIew £ 1eap

ipaipuny auo Aq papIAlp papuny Jnoy st ey

¢A1x1s Jo uad Jad A4 st 3By

ianey uobexay e saop sapis Auew moH

"UDBIUANSS 3|qnoQ

N | M < |0

‘way3 ppv
"199Ys JOMSUE JNOA UO s1aquinu sy} 1e 3007

,"'umop 3} aj1um pue
JdMSUE Yded N0 YIOM 0} SPUOIIS G dAeY [[IM NoA suoipsanb jo dnoub 3siiy 3y} 4o

'159) 3y} Jeys o} Apead aie am moy,

34



satspapers.org

,Paysiuly s13sa) 8y ‘umop suad inoA ind,

ieaJe sl sl Jeypn

‘plb suenbs a13wilULd B UO UMEIP Bdeys papeys 3y} 1e 00T | 0T
¢looyds 03 324> sjidnd ayy o abejuadiad 1eym Inoqy

‘Jooyds 01 |9Aed} sjidnd swos moy smoys Jeyd aid ayl | 61
"'92Uanbas ay3 Ul SJIAqUINU OM] 1X3U 3Y} UMOP 3IIAN

Inoy Jo sdais ul umop Buiob siaquinu Jo dusnbas syy je jooq | gL
¢19y19603|e 350D 1BY} SPOP Ydnw MOH
'sjpuad omy pue suad omy Anq |

‘[1puad e pue uad e 40O 1502 3y} smoys 3|qerayl | /1
¢9J9y3 aJe sjidnd Auew moy 1syiyaboy|y

'sIn0J0d aInoAey sjidnd smoys Jeyd seq ayyl | 91

,"UMOop 31 9)1iMm pue
J9MSUE Yd©d N0 }I0M 0} SPU0IIS G| dAeY [[IM noA suoisanb jo dnoub 3xau ay} Jod,

¢4 40 anjen ay3 si 3eYM

2005 Year 7 progress mathematics test mark scheme: mental mathematics

LU0 s|idnd
oL 8 w w w 0
usaln
an|g
pay
(174 9L
- SpuU023s G| :awij]
%
é :
vy =dy Sl
L
6L 9€ 14"
8L €L
J.8— Do €L
Lz ‘sz ‘ez ‘eg | 8L -
[w
L
3
|w0ose
dgz [1ousd cL
dog uad
[
LL L—-GX%X9 LL
PanuIluod Spuodas G| :dwij pPanuIluod Spuodas | :dwi]

Inoy-A304 sjenba A uno4 | g1
£X1s-A11Y) J9)je Jaquinu aJenbs 3xau ay3 st 3eym | 1
¢Aepsan] uo ainjesadwsal sy} sem 3eypn
19ybiy saa.1bap uaj sem 31 ‘Aepsan] uQ
‘Aepuo|n uo ainyesadwal 8yl SMOYS 3|
"}99ys Jamsue unoA 1e oo | €1
¢bnl ay1 ur Yaj st 491eM Ydonw MOH
“J91eM 3U3 O SaJ1|I]|Iw AL} pue paipuny om} ino sinod woj
‘B6n[ e uj Jo1em Jo aup duo siaudyl | 7L
"193Ys JoMsue INoA uo uoirejndjed ayl 01 Jamsue ay3 1no YIopn | L1

35



eatspaperﬁ_{)rwe: 10 seconds

Year 7 progress test in mathematics 2005
Mental mathematics .
6 Friday Accept any
unambiguous
indication,
eg FriorF
7 6
8 25 g

9 3.5 cm < answer < 4.5 cm

Time: b seconds

1 32
10 3 pm
2 34
3 6
Do not t
4 30 incorrect ?’/f:czg ns
5 4
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Time: 10 seconds continued

satspaperﬁ-ﬁ{,?e: 15 seconds continued

11 23 17 f 1.10
12 750 ml
18 | 17 and 13 Accept pair
in either order
13 2 °C
14 49 19 23 % < answer < 27 %
15 11 Accept embedded
responses,
eg 4x11=44
Time: 15 seconds
16 | 22 pupils 20 12 cm?
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